
  

 

N651P199864+N651P199865

 

 

tempi di consegna di questi 2 pacchetti possono 
variare,per favore siate pazienti e vi ringrazio per la 

EN:Our product will be delivered to you in 2 packages 

.The delivery times of these 2 packagesmay differ,
please be  patient and thank you for your 
understanding 
DE:Unsere produkte teilen sich in zwei pakete auf. 
Die lieferung der beiden pakete kann je nach jahreszeit 

 variieren, so warten sie bitte geduldig und danken sie 
für ihr verständnis
FR:Notre produit vous sera livré en 2 paquets. Les 
délais de livraison de ces 2 colis peuvent différer, 
soyez patient et  merci de votre compréhension
ES:Nuestro producto le será entregado en 2 paquetes. 
Los  tiempos de entrega de estos 2 paquetes pueden 
variar, por  favor sea paciente y gracias por su 
comprensión
IT:Il nostro prodotto sarà consegnato in 2 confezioni. I

vostra comprensione

Assembly Instruction /Montageanleitung



Assembly Instruction

1

2

3

4

5

6

7

8

9

10

11

11

11

12

12

13

13



796x80x15mm

4 x 1 5 x 1

1210x349x15mm

6 x 1

1210x50x15mm 1250x380x15mm

9 x 1

10 x 1

794x300x15mm

12 x 2

805x319x3mm

13 x 2

N651P199864

408x319x3mm



1 x 1 2 x 1

399x307x15mm

3 x 1

399x80x15mm

7 x 1

8 x 1 11 x 3

694x395x15mm

698x349x15mm

763x350x15mm

N651P199865

763x350x15mm



Note: The quantitie below are the correcet amount to complete the assembly. In some cases more fttings
may be supplied than are required.

Please check you have all the panels listed below

A1

Cam Bolt x (26+1)

A2

Cam Lock x (26+1)

B

8*40mm Dowel x (18+1)

C

D

Hole to stick x  10

3.5*14mm Screw x (54+2)

E G

7*50mm Dowel x 2

Anti-toppling  x  2Door-blocking  x 1

H

4*18mm Screw x 3

J

handle  x 3

K

Hinge  x  6

M N

Backboard buckle  x  16Shelf support pin  x  4

Cabinet leg nail  x 7

N1×2          N2×2

N3×2           N4×2       N5×2

N651P199865

F

L







Step  1

A1

Cam Bolt x 5

B

8*40mm Dowel x 8

1

1

2

A1

A1

A1
A1

A1

B

B

B

B

B

B

B

B

×

√

B

A1



Step  2

A1

A1

A1

B

B

B

B

B

5

6

×

√

B

A1

A1

Cam Bolt x 3

B

8*40mm Dowel x 6



Step  3

B

A1

A1

A1
A1

A1

A1
A1

A1
A1

A1

B
B

B

7

8

A1

Cam Bolt x 12

B

8*40mm Dowel x 4

×

√

B

A1

A1

A1



Step  4

Door-blocking  x 1

C

3.5*14mm Screw x 14

A1

A1

A1

A1

A1

A1

Hinge  x  6

A1

Cam Bolt x 6

E

M

C
C

C
C

C
C

E

E

C
C

M

A1

J K

handle  x 3 4*18mm Screw x 3

J

K

 x 3

c

E
c

9

11

M



A2

Step  5

A2

Cam Bolt x 5

A2

A2

A2
A2

A2

1

2

3

4



5

Step  6

D

1

2

3

4

7*50mm Dowel x 2

D

D

D



6

12

13

Step  7

A2

A2

A2

A2
A2

Cam Bolt x 3

3

4

1

2

5



Step  8

A2

A2

A2

A2

A2A2

A2

A2

A2

A2

A2

Cam Bolt x 12

5

6

12

13

A2

Cabinet leg nail  x 7

L

L

L

L

L

L

L

L

4

1

3

8

7
A2

A2



Step  9

12

13

7

8

1

4

12

5

9

A2

A2

A2

A2

A2

A2

A2

Cam Bolt x 6

A2

 2



CG

Step  10

G

G

G

G

G

G

G

G

G

G
G

G

G

G

G

G

8

9

12

12

13

13

6

G

Backboard buckle  x  16

C

3.5*14mm Screw x 16



Step  11

F

Shelf support pin  x  4

F

F

F

F

F

7

5

12

1

8

2

9

10

Hole to stick x  10

H

IT:Per rendere il prodotto più bello, incollare l’

EN:In order to make the product more beautiful, please paste hardware J onthe 
exposed holes 
DE:Um das produkt ästhetischerer zu machen, kleben sie es bitte an das offene 
fenster
FR:Afin de rendre le produit plus beau, veuillez coller le matériel J sur les trous 
exposés
ES:Con el fin de hacer el producto más hermoso, por favor pega el hardware J 
sobre los agujeros expuestos

hardware J sui fori esposti

DE:Und richtet sich nach oben und unten
FR:L’étagère peut être ajustée en haut et en 
bas
ES:El estante se puede ajustar arriba y 
abajo

EN:The shelf can be adjusted upand down 

IT:Il ripiano può essere regolato su e giù



A CB

Step  12

C

3.5*14mm Screw x 16

CC
C

C

C C

C C

C

E
C

7

8

10

5

11

11

9

EN-A. Adjust this screw to adjust the distance between theupper and down parts o
f the door panel
B.Adjust this screw to adjust the left and right distanceof the door panel
C.Adjust this screw to adjust the longitudinal
separation of the door panel.
DE:A. Regeln sie den bolzen und richten die türrahmen nach oben und unten
B. Regle diesen bolzen und stellplatz nach rechts und links
C. Reguliert diese schraube längs Tür ist ab.
FR:A. ajustez cette vis pour ajuster la distance entre les parties supérieures et vers
 le bas du panneau de 
porte B. ajustez cette vis pour ajuster la distance gauche et droite du panneau de 
porte
C. ajustez cette vis pour ajuster le longitudinal
Séparation du panneau de porte.
ES:A. ajuste este tornillo para ajustar la distancia entre las partes superior y 
inferior del panel de la puerta B. ajuste 
este tornillo para ajustar la distancia izquierda y derecha del panel de la puerta
C. ajuste este tornillo para ajustar la separación longitudinal del panel de la puerta
IT:A. regolare questa vite per regolare la distanza tra le parti superiore e inferiore 
del pannello della porta B. regolare questa vite per regolare la distanza sinistra e d
estra del pannello della porta
C. regolare questa vite per regolare la separazione longitudinale del pannello 
della porta.



Step  13

C

3.5*14mm Screw x 8

C

C

C
C

C C
C C

C

E

C

A CB

9

11

11

11

7

5

2

8

EN-A. Adjust this screw to adjust the distance between theupper and down parts of the door panel
B.Adjust this screw to adjust the left and right distanceof the door panel
C.Adjust this screw to adjust the longitudinal
separation of the door panel.
DE:A. Regeln sie den bolzen und richten die türrahmen nach oben und unten
B. Regle diesen bolzen und stellplatz nach rechts und links
C. Reguliert diese schraube längs Tür ist ab.
FR:A. ajustez cette vis pour ajuster la distance entre les parties supérieures et
vers le bas du panneau de
porte B. ajustez cette vis pour ajuster la distance gauche et droite du panneau de porte
C. ajustez cette vis pour ajuster le longitudinal
Séparation du panneau de porte.
ES:A. ajuste este tornillo para ajustar la distancia entre las partes superior y inferior del panel de la puerta B. ajuste
este tornillo para ajustar la distancia izquierda y derecha del panel de la puerta
C. ajuste este tornillo para ajustar la separación longitudinal del panel de la
puerta
IT:A. regolare questa vite per regolare la distanza tra le parti superiore e inferiore
 del pannello della porta B. regolare questa vite per regolare la distanza sinistra e destra del pannello della porta
C. regolare questa vite per regolare la separazione longitudinale del pannello della porta.



Step  14

1
2

3

5

N1

N2

N3

N4

N5

4

N1

N1

N1

N5

  
   

  
 

N

Anti-toppling  x  2

N1×2           N2×2

N3×2 N4×2 N5×2

N1

N5

9

11

11

11

7

EN:Please decide whether to add anti tipping 
accessories basedon perso nal needs
DE:Bitte entscheiden sie in bezug auf ihre bedürfnisse, 
ob sie bauausrüstung hinzufügen sollen
FR:S’il vous plaît décider d’ajouter des accessoires a
nti-basculement en fonction des besoins personnels
IT:Decidere se aggiungere accessori anti-ribaltamento 
in base alle esigenze personali
ES:Por favor, decida si desea añadir accesorios 
antipropinas en función de sus necesidades personales

囌蘇苏
Line

囌蘇苏
Line

囌蘇苏
Line


	边柜1说明书01
	边柜1说明书02
	边柜1说明书03
	边柜1说明书04
	边柜1说明书05
	边柜1说明书06
	边柜1说明书07
	边柜1说明书08
	边柜1说明书09
	边柜1说明书10
	边柜1说明书11
	边柜1说明书12
	边柜1说明书13
	边柜1说明书14
	边柜1说明书15
	边柜1说明书16
	边柜1说明书17
	边柜1说明书18
	边柜1说明书19

